DELHI PUBLIC SCHOOL, GANDHINAGAR
CLASS: 3 SUBJECT: MATHS
Academic Session 2022-23

CHAPTER- 10
Money

My Practice Time-1

Explanation-Reserve bank of India is the central bank. It manages currency an
advises on various denominations of the banknotes to be issued.

Q.1 Write the given amount in short form.

a) Thirty-nine rupees=X 39.00

c) Thirty-two rupees ninety-seven paise= X32.97
d) Eighty-seven rupees twenty-nine paise= X87.29

Q.2 Write the given amount in long form.

a) X45.05 = Forty-five rupees five paise

c) X86.10 = Eighty-six rupees ten paise

e) X43.06 = Forty -three rupees six paise

h) 209.11 = Two hundred nine rupees eleven paise

My Practice Time-2

X1=100 paise
1
lp— X E
Q.1 Convert rupees paise into paise.
b)X7.50
X1=100 paise
X7 = 7x100=700 p+50p=750 paise

c) 5.25
X1=100 paise
X5 =5x%100=500 p+25p=525 paise




f) X5.75 (H.W)

Q.2. Convert paise into rupees or rupees and paise.

To convert paise into rupees, we divide the amount in paise by 100.

b) 310 p
310 p=300 p+10p= X3 +10 p=X3.10 or % =%3.10

e) 520 p
520 p = 500p+20p=% 5 + 20p= %5.20 or %g = %5.20

f) 650 p (H.W)

Q.3 Put >, < or = sign in the box.
a)X6.59=659 p

c) 546 p <X7.40

d) X3 =300p

My Practice Time -3
Q.1 Add the following.

a) c)
s p
25 | 75 < P
+ | 41 | 00 26 | 00
66 75 + 42 50
68 | 50
e) g)
X p - 0
12 | 50 12 | 75
+ | 30 | 75 T 5 | 5
43 | 25 5 5




H) H.W

Q.2 Subtract the following.

a) d)
% p
9 50
- 7 25
2 25
e)
% p
31 00
- 21 50
09 50
H) HW

Q.3 Put >, < or = sign in the box.

a)X48.20+240p<X67.50+110p
%48.20+%2.40=% 50.60
X67.50+%1.10=%68.60

=X 50.60 < X68.60

b) X64.89-%39.90<X56.20-%11.49
%64.89-%339.90=%X 24.99
%56.20-X11.49=%44.71
X24.99<X44.71

c) 320 p +519 p > 410p+415p

320+519= 839p
410+415= 825 p
839p>825p

g)

R P
13 92
10 27
03 65
R P
35 25
12 50
22 75

My Practice time- 4 and 5 (Omitted)




CBE Based Questions
1. State True or False

a) X1 =0.01 Paisa (True)

b) 5 Paisa = X0.05 (True)

c) 4500 Paisa =X 40 (False)
d)X12.32=1232 Paisa (True)

2. How many 50 paise coins makes X 10?
Ans. X 1=50 p+50p

20x50= 1000 p

1000 p =X10

Twenty 50p coins make X 10.

3. 9 rupees 25 paise is same as X
(a) X9.25 (b) 925 p (c) bothaandb




Chapter-12 Data Handling




Q3. In Notebook

Solution

=10 books

Subjects

Number of Books

Science

Maths

English

GK







Q3. (In note-book)




Competency Based Question:

al.

BAR GRAPHS SHEET 2C - FRUIT SURVEY
The children in Salamander Class had a vote on their tastiest fruit.

|

O ¢ O @ S ©

S -
s Fruit Survey
7
6
85
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3
2
1
° s

apples bananas pears grapes oranges plums peaches

1) Which fruit got the most votes?

2) How many more votes did plums get than peaches?

3) How many more votes did grapes get than oranges?

4) How many less votes did pears get than bananas?

5) ‘Bananas got twice as many votes as apples’. Is this true?
6) ‘Grapes got twice as many votes as oranges’. Is this true?

7) How many children votes for bananas or apples?
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CHAPTER 9 : MEASUREMENT

| LOOK BACK (PAGE 146 ) SELF PRACTICE
MY PRACTICE TIME : 1

1. Convert into centimetres.

a) 2m:

1 m=100cm

2m=2x100
=200 cm

d) 70m25cm
=70 %100 cm+ 25cm
= 7000 + 25
=7025cm

f) 6m50cm
=6 x 100 cm + 50 cm
=600 + 50
=650 cm

h) 8 m50 cm ( HW)

2. Convert the following into metres and cm.

a) 400 cm,
We know that

100cm=1m
400 cm =400 <+ 100

=4m
d) 256 cm,
We know that

100cm=1m
256 cm = 256 + 100




=2m56 cm

f) 244 cm,
We know that

100cm=1m
244 cm = 244 + 100

=2m44 cm
h) 413cm (HW)

3. How many more centimetres are required to make a metre?

a) 82cm
We know that
100cm=1m
So0,100cm—82cm
=18 cm more

b) 57 cm
We know that
100cm=1m

So, 100 cm—57 cm =43 cm more

d) 84 cm
We know that
100cm=1m

So, 100 cm -84 cm = 16 cm more

MY PRACTICE TIME :2

1.Convert the following into metres.

a) 3km
We know that
1 km=1000 m
3 km =3 x 1000
= 3000 m




d) 9 km

We know that
1 km=1000 m
9 km =9 x 1000
=9000 m

f) 5 km 300 m
We know that
1 km=1000 m
5km=5x1000
=5000 m+ 300 m
=5300 m

h) 3 km 169 m ( HW)

2.Convert the following into kilometer and metres.

a) 6000 m

We know that
1 km=1000 m

6000 m = 6000 + 1000
=6 km

d) 7754 m

We know that
1 km=1000 m

7754 m =7754 + 1000
=7km754 m

f) 5005 m

We know that
1 km=1000 m

5005 m =5005+ 1000
=5km5m




h) 9190 m ( HW)
3. Match the following.

a. 4214 m i. 4000 m
b. 5424 m ii. 8km147 m
c. 8147 m iii. 7604 m
d. 4 km iv.4km214 m
e. 7km604 m V. 5km424 m

a.lv,b.v,c.ii ,d.i,e. ii

4. Eill in the blanks.

a. long  b. 6000 c. multiply d.2x1000 m=2x1km=2km

MY PRACTICE TIME :3 (OMITTED)

MY PRACTICE TIME :4

1.Convert the following into grams .
a) 2 kg
We know that
1 kg=1000g
2 kg =2x1000
=2000g

d) 8 kg 500 g
We know that
1 kg =1000g
8 kg =8 x 1000
=8000g +500¢g
= 8500g

f) 5kg 300 g




We know that

1 kg =1000g

5 kg =5 x 1000
=5000g +300¢
=5300g

f)6 kg 250 g (hw)

1.Convert the following into kg and grams .
a) 9000g

We know that

1 kg=1000g

9000 g =9000 + 1000
= 9kg

d) 7810 g
We know that
1 kg=1000g

7810g =7810+ 1000
= 7kg 810g

f) 7190 g
We know that
1 kg=1000g

7190 g =7190 = 1000
= 7kg 190g

h) 2436 g




3. Match the following.

a. 8045¢ 1. 6453 ¢

b. 3975 ¢ . 8kg45g

c. 4kg300¢ 1.3 kg 975 ¢

d. 6 kg 453 ¢ iv.4300 g
a. i ,bii,c.iv ,d.i

MY PRACTICE TIME :5(OMITTED)

MY PRACTICE TIME :6

1.Convert the following into millilitres .

a)7l
We know that
11=1000 ml
71= 7x1000
= 7000 mi
d) 21 460 mi
We know that
11=1000 ml
21=2x1000
=2000 m |
= 2000 m/ + 460 ml
= 2460 mi
f) 91909 ml
We know that
11=1000 ml
91= 9x1000
= 9000 ml

=9000 m/ + 909 ml
= 9909 ml




h) 91 660 ml

1.Convert the following litres and millilitres .

a) 8000 ml

We know that

11=1000 ml
8000 ml = 8000 + 1000

=8I

d) 1600 ml

We know that

11=1000 ml
1600 ml = 1600 + 1000

= 11600 ml
f) 4999 ml

We know that

11=1000 ml
4999 ml = 4999 + 1000

= 41999 ml
h) 6339 ml

3.Add the following.

ML

d)

ML

345

745

135

133

((oJNSaL NNl

490

OINWwr

878

ML

h)

ML

734

456

135

312

+
~N BT

869

OIN N

768




4. Subtract the following.

a) L ML d) L ML
6 579 7 469
- 2 219 - 6 328
4 360 1 141
f) L ML h) L ML
5 799 6 748
- 4 354 - 4 345
1 445 2 403
5. Match the following.
a. 161-81 I. 4255 ml
b. 4000 ml + 255 ml ii. 910 mi
c. 6496 ml —5310 ml ii. 8 1
d. 345 ml + 565 ml iv. 1186 mi
a.lii,b.i,c.iv ,d. i
SOLVE WORD PROBLEMS.

1. A cow weighs 300kg. Its calf weighs 75kg. What is the weight of the cow and the

calf put together?

Solution:

Weight of cow =300 kg

Weight of calf = 75 kg

=300 kg + 75 kg
=375 kg

Total weight

2. Ramu had a rope that was 36 cm long. His sister had a rope which was 100 cm long.

Whose rope is longer and by how much?

Solution:




Length of Ramu’s rope = 36 cm
Length of sister’s rope = 100 cm
Rope of his sister is longer by 100 cm — 36 cm

=64 cm.

3. Joe bought 2 kg 500g of wheat and 1 kg 300 g of rice. Find the total weight of
wheat and rice,

Solution:

Weight of wheat =2 kg 500 g

Weight of rice =1kg300g

Total weight =2kg500g+1kg300g
=2kg+1kg+500g+300¢g
=3kg800¢g

4. A ladder is 3 m 50 cm high. Paul has climbed 2 m 35 cm. How much more does
he need to climb to reach the top?

Solution:

Height of ladder =3 m 50 cm

Height climbed by Paul =2 m 35 cm

Height of ladder left to climb=3 m50cm -2 m 35 cm
=3m-2m+(50cm-35cm)

=1m1l5cm

COMPETENCY BASED QUESTIONS
CHAPTER 9 : MEASUREMENT

1. Which of these has a capacity of about 10 ml?
Al

A)ﬁ 8 | ¢ b




2. The table below shows the number of steps taken by 5 children to measure the width

of a room. Who has taken shortest steps?

Name Number of steps
Ajay 9
Sameer 10
Rishi 8
Saurabh 7
A) Ajay B) Saurabh

3. Which is the largest?

C) Sameer

A)100km B)200m C)100m D) 200 km
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Chapter-6 Fractions

Complete Chapter will be done in the text-book




One- Seventh







Competency Based Questions: (in note-book)

Q1. Do as directed:

a) Write the fraction for yellow colour in the figure.
Ans: 1/3
b) Write the fraction for blue colour in the figure.
Ans: 1/3
Q2. Find:

2/30f6
Ans:6+3=2

2x2=4




CHAPTER-5 DIVISION

-The number to be divided is called the dividend.

-The number which is used to divide is called the divisor.
-The answer in division is called the quotient.

-Division is a repeated subtraction.

MY PRACTICE TIME-1
Q.1 Using the repeated method, fill in the blanks.
b) 36+6=6
36-6=30
30-6=24
24 -6 =18
18-6=12
12-6=6
6-6=0

Q.2 Divide the following using the repeated subtraction method.

a) 16+4=4 d)24+6=4
16-4 =12 24-6=18
12-4=8 18-6=12
8-4=4 12-6=6
4-4=0 6-6=0

Q.3 Divide the following using the number line.

b) 18+6=3

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

d 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20



PROPERTIES OF DIVISION (Tick in the text book) Page -66

MY PRACTICE TIME -2
Q.1 Write the multiplication fact for the following.
a) 20+4=5
i)4x5=20
ii)5x4=20
d) 35+5=7
i)7x5=35
ii)5%x7=35
Q.2 Solve the following and see how multiplication and division is related to division.
a)6x4=24,4x6=24;24+-4=6,24+6=4,
€)5x6=30,6x5=30;30+5=6, 30+6=5
e)7x9=63,9%x7=63; 63+7=9,63+9=7
Q.3 Fill in the boxes
b) 125 +125 =1

d) 30 +1 =30.
e) 0+526 =0.
Q.4 State whether true or False.

a) On dividing 360 by 360, the quotient will be 0. False.

c) If a number is divided by 0, the answer will be 1. False

DIVISION OF A 2 DIGIT NUMBER:MY PRACTICE TIME-3

Q.1 Solve the following :

a) 5)30
0 6
5 3 0
- o
3 0
- 3 0
0 0




f) 8)64

o| o] o] O] oo| ©

h) 7)42

2

1
~| | O] | O

2
0 0

Q.2 Divide the following:

a) 4)56

1 |4
4 |5 |6
- |a

1 |6
T

0 |0
f) 4)48

1 |2
4 a4 |8
- |a

0o |8
- o |s

o |o

k) 3)72



2 4
3 7 2
- 6

1 2
- 1 2

0 0

Q.3 Find the quotient and the remainder of the following.

a) 3)38
1 ]2
3 [3 |8
- |3
0 |8
- 6
0o |2

Quotient-12 , Remainder-02

g) 5)97
1 9
5 9 7
- 5
4 7
- |a s
0 2

Quotient-19 , Remainder-02

1) 9)32
0 3
9 3 2
- 0
3 2
- 2 7
0 5

Quotient-03 , Remainder-05



Q4. Fill in the blanks.
a) 28+3 =quotient=9 , remainder=1
d)75+3 = quotient= 25, remainder=0
f) 82+4 = quotient= 21, remainder=0

k) 80+7 = quotient= 11, remainder=3.

MY PRACTICE TIME-4

Q.1 Divide the following.

b)2)824
4 1 ]2
2 |8 |2 [a
- |8
0 |2
- 2
0o |4
4
0 |o
d)3 )642
2 [1 [a
3 |6 [4 |2
- |6
0o |4
- 3
o |1 |2
- 1 |2
0o |o




g) 6) 444

o |7 |4
6 |4 |4 |4
- |o
4 |a
- a4 ]2
0o |2 |4
2 |4
o |o

Q.2 Divide and find the quotient and the remainder:

b) 5)557

1 1 1

- |5
0 |5
- o s
o [0 |7
- 5
0 |2

Quotient-111, Remainder-02

e) 3)934
3 1 1
3 9 3 4
- 9
0 3
- 0 3
0 0 4
3
0 1




Quotient-311, Remainder-01

f) 6) 867
1 |4 |4
6 |8 |6 |7
- |6
2 |6
- |2 |a
o |2 |7
2 |4
3

Quotient-144 , Remainder-03
Q.3 State whether True or False.
a) We do not get any remainder on dividing 448 by 4.
Ans :TRUE
C) 273 divide by 3 gives quotient as 91 and remainder as 0.

Ans: TRUE

MY PRACTICE TIME-5 OMITTED
MY PRACTICE TIME-6 OMITTED
MY PRACTICE TIME-7

Q.1 State whether true or false.

a) 356+10 gives 30 as quotient, 4 as remainder. FALSE
b) 309+10 gives 30 as quotient, 90 as remainder. FALSE
Q.2 Fill in the boxes:

a) 2658+10 gives 265 as quotient, 8 as remainder.

c) 5640-+10 gives 564 as quotient,0 as remainder.

Solve these problems:

2) 340 apples have to be arranged in 5 rows equally. How many apples will fit in each rows?
Solution:

Total number of Apples- 340

Number of rows- 5

Number of apples in a row= 340+5



- 0
3 4
- 3 0
4 0
- 4 0
0 0

Ans:68 apples can fit in one row.

3) Puja has 180 toffees. She wants to give them to 9 of her friends equally. How many toffees each
of her friend will receive.

Solution:
Total number of toffees - 180
Number of rows- 9

Number of apples in a row= 180+9

0 2 0

- o
1 |8
- |1 |8
o |o
- o |o
0o |o

Ans: Each friend will get 20 toffees.



CBE QUESTIONS:

1. 999:3=333
2. 60 apples=5 dozens. (60+12=5)
3. Take astring 56 cm long. Cut 7 cm pieces. How many pieces do you get?

Solution:
56+7=8cm

Ans: Eight pieces of 7cm will be cut from 56cm long string.

REFLECTIONS BASED ON E.L:

1. Ilearnt to divide 2- and 3- digit numbers by 1-digit number.
2. llearnt to solve word problems based on division.
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Chapter-7 Shapes

Complete Chapter will be done in the text-book.







To be done in the class as worksheet

Competency Based Questions: ( to be done in note-book )

QL. This is a shape of a rectangle.

It has 4 corners. Name one another shape which has exactly four corners. Draw the shape.

o il

Name the Shape
Number of corner
Number of Edge

Number of Face



Chapter- 8 Patterns and Symmetry

Complete Chapter will be done in the text-book.




My Practice Time — 2 ( Omit)




To he done in the class as worksheet

Competency Based Questions: ( to be done in note-book )

QL. 1st term in the pattern is 7. Find the next five terms if the common difference
in each term is 2

7’ i) i) ) )

Q2. Write any two English letters which has two or more lines of symmetry.



Chapter- 10 Time

Complete Chapter will be done in the text-book.




DELHI PUBLIC SCHOOL, GANDHINAGAR
CLASS : 3 SUBJECT: MATHS
Academic Session 2022-23
Chapter-2 Addition

Worksheet (5 marks)
Q1. Add:
Th|i{H|T|O
314 |2
6 19 |8

Q2. A Library has 2146 Maths books, 2107 Science books and 4116 Hindi

books . How many books are there altogether?

SEA Activity (10 marks )
Order Property of Addition ( Commutative Property )

Use Colour Pencils to complete this activity

1. 3456 + 2098 = + 3456
2. 8915 + 1001 = 1001 +
3. +5128 = 5128 + 3967

4. 2956 + = 3707 + 2956



Chapter-3 Subtraction

Complete Chapter will be done in the notebook.
Introduction:
Subtraction means taking away a number from another. The larger number in
subtraction is called minuend and the smaller number is called subtrahend. The answer

in subtraction is called difference.

6786 — minuend

2345 —Psubtrahend
4441 —>»difference

My Practice Time — 1
Q1. Subtract the following numbers:

a H{T]|O T|]o
4156 555
3 4| 4
453 511
e h.

N oI
o|uo|oi|H
R|lo|l—|O
S| |oo|T
N | w| o+
w|N| | O

Q2. Solve the following:

a. d.
HlT]|O Hl[T]|O
71718 8| 41|5
9 1] 8
716109 8| 217




h . (HW.)

~low|l~|T
— | oo |—
o KN|O

Q3. Write the following in columns and subtract:

a. 516 from 617 c. 462 from 584
H|T]|O H|T|oO
6|17 5181 4
5[ 1]6 41612
1{0]1 1212

f.(HW.)

Q4. Fill in the blanks:
a. 746 —318 =428
c. 349-347=2

My Practice Time-2

Q1. Subtract the following numbers:

a C.

Th|H[T|O Th|H|T|O
3 (18(|7]4 9 |6|2|8
2 3(1]7
3 (8(|7]2 9 [3[1]1
e | Th[H|T|O
51917]9
2 [ 7141
3 (2|3]|8
Q2. Solve the following:
a. d.
Th|H|T|O Th|{H|T|O
5 17]4]2 71241
5[ 4 6 [4|7]2
5 (6(8]|8 70169




Q3. Fill in the blanks:
a. 7684 — 2184 = 5500
c. 9486 — 356 = 9130

My Practice Time- 3

Q1. Subtract the following and check your answer.

a. 379 - 246
Check:
HIT |O H T O
3 (7 |9 2 4 6
- [2 |4 |6 + 1 |3 |3
1 13 |3 3 7 9
d.
H [T [O H [T o
918 7 3 8 4
" [ 38 [4 —+ [6 [0 |3
610 3 9 8 7
0.
Th | H T O
2 |4 |6 |9 Ih y g g
- 1 0 9 8
1 3 7 1 + 1 3 7 1
2 il 6 9
h HW.

Q2. Write the correct answer in the boxes below:
a. 317- 317 =0
d. 460-460 = 0
h. 2175-1=2174
i. 5600-1 = 5599




My Practice Time- 4 ( Omit)

My Practice Time-5

Q1. What must be added to 3162 to get 5090 ?
Solution: We have to subtract 3162 from 5090, i.e.,

5090 — 3162 = 1928 .
Thus, 1928 should be added to 3162 to get 5090.

Th|H |T |O
5 |0 ]9 |0
|3 |1 |6 |2
1 19 [2 |8

Q4. The sum of two numbers is 598. If one of the numbers is 347, find the

other number.
Solution: Sum of two numbers = 598

One number = 347
Other number = 598 — 347 = 251

H|T|O
5 19 |8
3 14 |7
2 |51

Q9. A caterer has to serve dinner to 5067 people. However, he has only
3276 plates with him. How many more plates does he need ?
Solution:
Number of people, the caterer has to serve dinner to = 5067

Number of plates with the caterer = 3276
5067 — 3276 = 1791

Th|H|T|O
5 |06 |7
3 |2 |7]6
1 7191

Thus, 1791 plates more are needed to serve all the people.

My Practice Time -6 Omitted



Worksheet (5 marks)

Q1. In a school, there are 1460 students. Out of them, 658 students are girls .
The number of boys in the school are 2m
Q2. Subtract and Check your answer:

2873 — 1204 3m

CBE based Questions

Q1. Find 100 less than the smallest 4-digit number?

Q2. What number should be subtracted from 3888 to get 1790?
Q3. Compare the following: (Put the sign <, >, =)

4 thousands 3 hundreds 2 tens 6 4 thousands 3 hundreds 1tens 6 ones
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Chapter- 2 Addition ( Note-book)
Addition means putting together. The terms that are added are called addends and
the answer in addition is called Sum.
45 Addends
+24
69 } Sum

| Look Back:  (Page no. 16) Text-Book
1. Add the following:

a. HTO b. HTO
221 1|(|)9
+ 556 + 7909
7177 9 08

C.
HTO d HTO
7|£l ||56
+199 +278
920 634

2. Fill in the blanks:

a. 56+0= 0+56

b. 126 + 352 =352 + 126
c. 105+ 68 =68+ 105
d 116+0=116




Complete Chapter will be done in the notebook:

My Practice Time 1

1. Find the Sum:

T

8

T

2

1

T

T

2

*Ialo

2. Add the following:

2

H|T|O

4

Th

H|T|O

Th

Th|H|T|O

8

Th|H|T|O

H|T|O

a.

Th|H|T|O

Th




My Practice Time 2

1. Add the following:

Th H T O

Th H T O

a.

Th H T O

Th H T O

Q2. Add the following:

a.

Th H T O

Th H T O

My Practice Time 3

1. Add the following:

Th

Th

Th

Q2. Arrange the following in columns and add:

a. 2105+ 1073

Th




c. 2124 + 3140+ 214

Th|H| T | O
2 112 ] 4
311410

2 | 1| 4
S| 4|7 | 8

f. 5170 + 3002 + 1002

ThfH]TT]O
511710
30|02
1ofo]2
91714

Qs. Find the sum of the following:

a. 5 thousands 6 hundreds 2 tens 2 ones and 2thousands 3 hundreds 4 tens 6 ones.
Solution: 5 thousands 6 hundreds 2 tens 2 ones = 5000 + 600 + 20 + 2 = 5622
2 thousands 3 hundreds 4 tens 6 ones = 2000 + 300 + 40 + 6 = 2346

Th|{ H| T | O
5|16 |22
2|1 3| 4|6
719 | 6|8

My Practice Time-4
Q1. Add the following:

& TR T]O c.
7 5 6 2 Th|{ H T (0]
3 45|68
71570 311109
21887
d [Th|H[T]O f[Th[H][T]O
45| 1]6 4138 ]9
8 | 4 2143
Z2]6]0]0 416 3] 2




Th|H | T|O
4 | 6| 7|8
3| 5|22
812|010

Q2. Tick ( \") the sums which involve regrouping. Also find the sum.
a. 4352+2679= \J"

Th|H |T |O

4 [3 |5 |2
+/2 16 [7 |9
7 10 |3 |1

Q3. Arrange the following in columns and find the sum:

a Th{H]T|O dlTh[H]T]J]O

21 21116s 2| 5]6]3

3 1 2 5 4 8

+| 5 3 4 1 2 B 1 1

e. j

ThlH[TT]O TTTETT o
511416 5 10135 6
2 1316713 413|638
LA I I 9| 4|24

Q 4. Find the sum of the following:
a. 2 thousands 4 hundreds 5 tens 7 ones = 2000 + 400 + 50 + 7 = 2457

3 thousands 2 hundreds 3 tens 8 ones = 3000 + 200 + 30 + 8 = 3238

Add
ThIH T O
2 [ 4 |57
+ 312138
576195

e. 4 thousands 8 hundreds 3 tens 4 ones = 4000 + 800 + 30 + 4 = 4834
3 thousands 4 hundreds 9 tens 4 ones = 3000 + 400 + 90 + 4 = 3494
Add
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Q5. Add the following horizontally:
a. 1629 + 3165 + 4153 = 4794 + 4153 = 8947
c. 3254 +1364 + 1258 = 4618 + 1258 = 5876
f. 3244 + 2879 + 1179 =6123 + 1179 = 7302

My Practice Time 5

Q1. Fill'in the blanks:
a. 314+0 = 314
b. 1265+ 1 = 1266
c. 3210+ 1002 = 1002 + 3210
d. 1577 +1=1578
e. 0+4275=4275
f. 1257 + 200 = 200 + 1257

Q2. Tick the correct option:
a. 3314+ 0=23313
b.1230+1=1231 Yes

c. 2553 + 1 = 2552

d. 6229 + 0 = 6230

My Practice Time 6

Q1. In 2013, there were 454 students in a Junior school. In the next year , 189 more
students joined. What was the school strength in 2014?
Solution: Number of students in year 2013 = 454
189 more students come next year

Total number of students = 454 + 189 = 643
Thus, total strength in 2014 is 643.
0
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Q 3. There are 462 apples, 206 mangoes and 411 bananas in a fruit shop. Find the total
number of fruits in the shop ?

Solution:  Number of apples = 462
Number of mangoes = 206
Number of bananas = 411

Thus, total number of fruits in the shop = 1079
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Q9. 3221 men ,2571 women and 565 children live in Block-A of a town. What is
the population of Block-A?
Solution: Number of men = 3221
Number of women = 2571
Number of children = 565
Thus the total population of Block-A =

Th| H| T ]| O
3122 1
2 | 5|7 1

5|16 |5
6 | 3|5 |7

Q11. A bicycle factory manufactured 2173 bicycles in the first month , 1753 bicycles
in the second month and 2068 bicycles in the third month. How many bicycles in total
were manufactured in 3 months?

Solution: Number of bicycles manufactured in first month = 2173
Number of bicycles manufactured in second month = 1753
Number of bicycles manufactured in third month = 2068

Thus, total number of bicycles manufactured in three months =
2173 + 1753 + 2068 = 5994 bicycles.
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My Practice Time 7
Q1. Estimate the sums to the nearest 10’s by first rounding off the numbers.

a.523 + 154
523 is round off to 520 (3<5)
and 154 is round off to 150, (4<5)
520 + 150 = 670

e. 1242 + 1002

1242 is round off to 1240 (2<5)
and 1002 is round off to 1000, (2<5)
1240 + 1000 = 2240

h. 2959 + 1269

2959 is round off to 2960  (9>5)
and 1269 is round off to 1270, (9>5)
2960 + 1270 = 4230

Q2. Estimate the sums to the nearest 100’s by first rounding off the numbers:
a. 624 + 317

624 is round off to 600  ( 2<5)
and 317 is round off to 300, (1<5)
600 + 300 =900

f. 1295 + 2365
1295 is round off to 1300 (9>5)
and 2365 is round off to 2400, ( 6> 5)
1300 + 2400 = 3700

i. 5726 + 3459

5726 is round off to 5700 ( 2<5)
and 3459 is round off to 3500, (5=5)
5700 + 3500 = 9200




Q4. Inaschool, there are 1319 boys and 1283 girls. Estimate the total number of
students in the school , by first rounding off the numbers to the nearest 100’s.
Solution: Number of boys = 1319
Number of girls = 1283
Rounding off to 100’s, 1319 = 1300
and 1283 =1300
Estimated total strength = 1300 + 1300 = 2600

CBE Based Questions:

1. Fill the missing digits:
315 1
+ L1213

9 86 4

2. What number when added to 9999 results in 10,000?
3. Find the sum :

5 thousands 2 hundreds 3 tens
9 ones and 3 thousands 3tens

3ones. \




Looking Back: - {Note-Book]
01234567 8and 9ave called digts

Weuse litsand place valugto read and writenumbers,
Terms Used:

I Pracevalueand facevalue.

7, Expanded and standard form of numoers,

3 Suocessor and predecess,

/) Asoending and descendingorder,

) Bienand Odd numbers,

) Roundingoff numbers,
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My Practice TIme-2 noe-boo

QL Write the place value of the underlined digits:
a) 6149 = 400ordtens

d)3196 = 3000 or 3 thousands

§)5041=0

f)5005 = 5000 or 5 thousands

Q2. Find the face value of the underlined digits:
a) 6841=8

c) 8565=6
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My Practice Time 4 ( Notebook)
Q1. Rewrite the following numbers in ascending order:
%) 146214261319, 1391

Ans: 1319, 1391, 1426, 1462

) 3002, 3020, 3200, 3202

Ans: 3002, 3020, 3200, 3202

Q2. Rewrite the following numbers in descending order:
b) 1856 1595, 1431, 1771

Ans: 1856 , 1771 , 1595, 1431

C) 2446 , 2264 , 2462 , 2624

Ans: 2624 , 2462 , 2446 , 2264

) 7436, 7634 , 6734, 6473

Ans: 7634, 7436 , 6734, 6473

Q3.Tick " the even numbers:
\/ [
o 2143, 2156, 1157, 3895, 1168, 1141
[
9 2525,3857, 5156, 2585, 2185, 2778
Q4. Tick " the odd numbers:
[
b) 5649,8178, 5438, 2156, 4538, 2\0/01

[
©) 6075, 1664, 3198, 9878, 2096, 4560
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My Practice Time 5

Q1. Round off the following number to the nearest 10’s:  ( Note- book)
a) 125
5=5
50 125 is rounded off to 130.
d) 1863
3<5
50 1863 is rounded off to 1860.
e) H.W.

Slide 15

2. Round off the following to the nearest 100’s : ( Note- book)
a) 456
5=5
50 456 is rounded off to 500.
) 4162
6>5
50 4162 is rounded off to 4200.
€) 3216
1<5
50 3216 is rounded off to 3200.
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